3.7 Toilet Tales
一、完成故事的相关练习。 
(       )1.Children can use toilets because they are smart.

(       )2. What does fit through mean in picture 2? 
A. go into    B.jump up   C.walk away
(       )3.Why wouldn't the lion leave the toilet?

A.Because he is too strong to get off.             

B.Because he thinks it very nice.                  
C.Because he regards it as his throne.
4. A seal is too＿＿＿and he can ＿＿＿  ＿＿＿  ＿＿＿ the toilet.
5. A snake would regard the toilet as a(an) ＿＿＿ and ＿＿＿ itself ＿＿＿ it.

6. We can know from(了解到）the passage that sheep always＿＿＿ ＿＿＿.
7. How many animals are mentioned? Can you list them all?
*8. Which part do you like best and why?（选做）

二、选择你最喜欢的片断，模仿并读一读。
